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(b)

(c)

(d)
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Atoms which have the same number of protons (or same element) but  [1]
different numbers of neutrons (1)

BCL ()

HYCL (1) [2]

H Clline at 36 has rel. abundance of 90 (1)

38 30
These show *Ciand ¥Clin ratio 3:1 (1)
[or use of 35 and 37] [21
Mean of the two isotopes 3 x 35 +1x 37 = 355 (1) 11
4
[Total: 61
1
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Q3.

Q4.

1 (a)

)]

{c} (i}
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samea proton no./atomic no./no. of protons
different mass no./nucleon no./no. of nautrons

number of
isotopa pratons neutrons alactrons
®Fa 26 30 26
Bco 27 32 27
{1} {1} {1}

give ona mark for each correct column
allow {1} if no column is corract but one row is corract

waightad mean/average mass

of an atom (not slement)

compared with 12C

one atom of 2C has a mass of exactly 12

[relative to '™ the mass of a '>C atom would get 2]

ar
mass of 1 mol of atoms

comparad with '2C
1 mol of 2C hasa mass of 12 g

{ii} A, =54 x5.84 + 56 x 91.68 + 57 x 2.17

100

=5673.13 =557 to 3 sf
100

allow 55.9 if A is calculated using 99.69 instead of 100

te) i) an acid that is partially dissociated into ions

(i) HS(q) + HO(l) —» H;0%(aq) + HS(aq)

or

H:S(q) + ag — H'(aq) + HS(aq)

or

H;S(aq) — H'(aq) + HS(aq)

equation (1)

state symbols {1)
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1

{1}
{1}
1

{1}
{1}
1

n

1

[2]

31

[5]
[Total: 101

(1)

[31
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3 (a
1s 2s 2p 33 3p 3 45 4p 4
Ca 0 0 1
sr* 10 M
[21
{b) (i} more shells of electrons [11
{ii} outermost shell has been removed M1
{iii) outermaost electrons are further from nucleus/there are more shells M1
increased shielding M1 141
Q5.
2 (a) Flg) > F'a)+e
correct equation (1)
correct state symbols (1) [2]
{b) from Na to Ar, electrons
are added to the same shellhave same shielding (1)
are subject to increasing nuclear charge/proton number (1)
are closer to the nucleus or atom gets smaller (1) [31
fc) (i) Atand Mg
in Al outermost electron is in 3p rather than 3s (1)
3p electron is at higher enerqy
or is further away/is more shielded from nucleus (1)
iy Pand S
for P 3p sub-shell is singly filled
and for S one 3p orbital has paired electrons (1)
paired electrons repel (1} [41
Q6.
1 (a) Al 1s2s°2p° 3s°3p' (1
Ti  1s?25?2p° 35? 3p° 3d® 45? or
1s? 25%2p° 3s? 3p° 45?3d? penalise any error (1) [2]
3
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(a) (i) Ca*(q) » Ca™(q) + ¢ equation (1)
state symbols (1)
(1) [3]

(i) 590 + 1150 = +1740kJ mol™

Q7.
1 {(a} {i}
2[)1 2D¥ 2pz
B 2s
T
=4
. 18
nucleus

corract 1s and 2s (1)

corract 2p,, 2p, and 2p. (1)
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{iiy

spherical s orbital {1}

double lobed p orbital along one axis (1)
both orbitals comecily labelled {1)
{iify

— —
—_—

nitrogen oxygen

both correct {1} 6l

fbY iy N1400 kJmol O 1310 kJ mol™' both {1)

{iiy N is all singly filled 2p orbitals or O has one filled/paired 2p orbital {1}
these paired 2p electrons in the O atom repel one another {1} I3

[Total: 81
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2 {a} tha ensrgy requirad to remove one slactron from aach atom (1}
in one mole of gaseous atoms (1)
or
tha enthalpy change in kJ mal far (1)

Mg} — Mig) + & (1) 121
(b} {i} firstionisation enargy dacraasas down Group 1 (1)
outarmast slectron is further from nucleus
ar has graater shislding {1}
{il} outermost electron expariences less aftraction
or formation of M* cation becomas aeasier down Group 1 (1) [31
. _ 083 _
{c} {0 niLi) = 69 0.12 (1)
{iif 2molLi — 1 molH;
042mol i » X212 _ 506 mol Hy (1)
volume of H, = 0.06 % 24.0 = 1.44dm? (1)
{iil} 2molLi — 2 mol LiOH
0.12 mol Li — 0.12 mol LiOH in 0.50 dm? (1)
[LiIOH] = 042 x4 = 0.24 mal dm® (1) 51
{d} sodium bums with a yellow flama
or whita solid formed
or colour of chlorine disappears (1)
2Na + CL — 2ZNaCl({1) 121
[Total: 12]

Q9.
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{a)

{b)

{c)

{d)
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Eneray required to remove one alactron
from each atom

in ona mole of
aaseous atoms of an element
(‘Enerayv chanage when one mole of aaseous afoms loses
one mole of slectrons’ would score all three marks.}
X'May - X%y + & equation

state svmbols
Group 5

sham rise in successive ionisation enargies
betwaan 5" and g* IEs

indicating change to a different shellfenargy level
or outer shall contains 5 alactrons

down the Group

atomic radil increase/
outer alectrons are increasingly further away

alactrons are added to new sheallsfmore shells
maore shielding

despite incraase in nuslear charge

(1}
1
(1

I3
(1}
R |
{1}

{1}

My I3

1
(1
{1}

1 M

[Total: 121
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1 (a)

(b)

(c)

(d)

Q11.

(a)

(b}

{c)
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(iy electron
(ii) towards the positive pole
(iii} electron has neqative charge

electron has very small mass
(iy the number of protons in the nucleus of an atom
(ii) the nucleus usually contain protons and neutrons
neutrons are uncharged
and are not repelled by protons in the nuclei of atoms
no change

new atom/isotope formed has the same electronic
configuration as the original element

same proton number/atomic number
different mass number/nucleon number

(24 x78.60) +(25x10.11)+ (26 x11.28)

A =
: 100

 1886.4+252.75+293.54 2432.69
B 100 100

which gives A, = 24.33
penalise (1) for misuse of significant fiqures

isotopes number of

protons | neutrons | electrons

**Ra a8 138 a8

228 92 146 g2

allow one mark for each correct column
if there are no correct columns,
allow maximum one mark for a correct row

outube.com/megalecture

(1
(M
(M
(M
(1
(1)
(M
(M
(M

(M

[4]

[2]

[21

[2]

[Total: 101

1
m

(1

(1

(3x1)

121

121

[31
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{dy () Ra® (1

{ii} less than (502 + 966)
allow answers in the range 1000-1400kJ mol™ (1

ionisation energies decrease down the Group
or must be less than IE for Ba — Ba®*
or size of atom increases down Group/
electrons are further away from nucleus
or there is increased shielding down Group {1

allow ecf on answer to (i) [31
[Total: 10]

Q12.
1 (a} atoms of tha samea alemeant / with sama proton (atomic) numbear/ same number of protons (1)
different numbers of neutrons / nucleon number f mass number (1) 21
{b}
isotope no. of protons | no. of neutrons  no. of electrons
%Mg 12 12 12
*Mg 12 14 12
each correct row (1) 21
© A = 24 x78.60 + 25x10.11+ 26x11.29 (1)

100

_ 1886.40 + 252.75 + 203.54
100

gives 24.33 to 4 sig fig (same as data in question)

do not credit wrong number of sig figs or incorract rounding up/down (1) [21

{d} Mg+ Cl — MaCk (1) il
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Q13.

2

Q14.

e} ()

(i)

(iR}

{iv}

n M
{iy
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n(sh) = f;; 0.020 (1}

massof Clin A=4.57-245 = 21291}

457-245 212
ACH = —igs T ass 008

allow acf as appropriata (1)

Sb:Cl=002:006 = 1:3
empirical formula of A is SbCk (1)

28b + 3Ck — 25bCE (1)

ionic: (1)

covalant (1)
not van dar Waals' forcas

{a) S(q) > S*(q)+e”
correct equation
correct state symbols

{b) from Na to Ar,
electrons are added to the same shell/have same shielding
electrons are subject to increasing nuclear charge/proton number
electrons are closer to the nucleus or atom gets smaller

{c) (i)

(ii)

Mg and Al
in Mg outermost electron is in 3s and
in Al outermost electron is in 3p

3p electron is at higher energy or

is further away from the nucleus or

is more shielded from the nucleus

SandP

for S one 3p orbital has paired electrons and
for P 3p sub-shell is singly filled

paired electrons repel

10
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121

[Total: 14]

(1)
(1)

(1
(1
(1

(1)

(1

(1
(1

121

131
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1 (a) same proton numberfatomic number (1
different mass number/nucleon number (1)
(b} A =(32 x 95.00) + (33 x 0.77) + (34 x 4.23) (1)
100
= 3040 + 25.41 + 143.82 = 3209.23
100 100
which gives A, = 32.09 (1)
(e)
number of
isotopes protons neutrons electrons
213pg 84 129 84
232Th 90 142 90
allow one mark for each correct column
if there are no ‘column’ marks,
allow maximum one mark for a correct row (3x1)
(d) (i) nucleon no. is 228 (1)
proton no. is 88 (1)
(il Ra not radium (1)
[Total:
Q15.
3 (a) Clay>C'(g)+e
correct equation (1)
correct state symbols (1
(b} (1 Naand Mg
Ma has greater nuclear charge/more protons than Na (1)

in both atoms, the 3s electrons are in the same orbital/

same energy level/same shell

(i) Ma and Al

in Al outermost electron is in 3p rather than 3s

3p electron is at higher enerqy or

is further awayl/is more shielded from nucleus

11
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(iv)

(c) (i

(ii)
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He and Ne
both He and Ne have the highest nuclear charges in their Period

He, Ne, and Ar
aoing down the group,

valence/outer shell electrons are farther from the nucleus
there is greater shielding

attraction between valence electrons and nucleus is less or
effective nuclear charge is less

from Na to C/

increased nuclear charge/nuclear attraction

cation has fewer electrons than atom or

cation has lost outer electrons or

cation has fewer shells

but cation has same nuclear charge as atom or
proton number is the same

3 (d) ignore any state symbols

(1)

(1)
(1)

(1Y [8l]

(1

(1)

(1 131

(1) | [61

MaO(s) + NaOH(aq) — NOREACTION (&}
MgO(s) + 2HCKaq) - MaCh + H,O (1
ALO4(s) + 2NaOH(aq) + 3H0() —»  2NaAiOH), or
AbQOs(s) + 2NaOH(aa) + HO() —  2NaAlO, + 2H,0 or nm
AbOs(s) + 6NaOH(aq) + 3HO() -  2NazA[OH)s
AkOs(s) + 6HClaq) —  2AICkL + 3H0 or N
ALQOs(s) + 6HClaq) - ARCE +3H;0
SO:(a) + NaOH(aq) —  NaHSO;or
S0:(q) + 2NaOH(aq) —  Na;S03 + H,0 o
S50a(q) + HCl(aq) — NO REACTION

Q16.

12
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(a) (i)

(b} (i)

Online Classes : Megalecture@gmail.com

www.youtube.com/megalecture
www.megalecture.com

from Na to C1I

nuclear charge increases

electrons are in the same shell/have the same shielding
nuclear attraction increases

argon does not form any bonds/compounds or
argon exists as single atoms/is monatomic

radius of cation/nm radius of anion/nm

Na* Mg Al* p* s* ci-

0.095 0.065 0.050 0.212 0.184 0.181

cations contain fewer electrons than the corresponding atoms or
cations contain fewer electrons than they do protons
nucleus has a greater attraction

anions contain more electrons than the corresponding atoms or
anions contain more electrons than they do protons
nucleus has a smaller attraction

13
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